DO NOW

Grab a voter and get logged in.

y=lx

Reflection in the x-axis:

If @ is negative, the graph
opens downward and has

Vertical translation: 7: 3%
***Focus on the number after %
the absolute value sign Z A
If k is positive, the graph
shifts up k& units.

If k is negative, the graph
shifts down £ units.

y=ix-2

been reflected in the x-axis.

4.4 Graphing Absolute Value Functions - Day 2

Transformations: changing by re F(ecﬁnﬁ (Flip),

rotatin (fuer translating (shde)) or
d'nla{‘fngﬁ (rcsiz;) 3 &

* COMPare 70(%): Q{X‘hl"’k *tD 1C(X>:f><r.

Each lefler indicales a Specf‘gc chomge.

0. refleching and. d.ladin
I\ = Novizental translatin (slide)
R = verhical {—w\vx&loﬁﬁr\%

Vertical stretching: \ [
Ifa >1, the graph is NARROWER \/
and steeper (slope is bigger). " T
Y =2/x|
\\ I //
) : // Vertical shrinking:
\\\\\ ///// If @ < 1, the graph is WIDER
11 T and less steep (slope is smaller).
L

y=3l]

Horizontal translation:
***Focus on the number inside
the absolute value sign.

*Seenns backward sl

If A is positive, the graph
shifts right 4 units.

y=lx=2;

If & is negative, the graph
shifts left 4 units.

y=lx+3



: S ; g 9
Describe the transformation(s) of y = |x| required for the Which absolute value equation is represented in the given graphs:

following absolute value functions. 1. a. y=|x+3] b. y=|x—3
- 1
1 y=x|+5 2. f(x)=3x-3] @ y=—lx+3 @ y= _x_3
shf up 5 units wider opening .
Shif+ V'Ejh‘f‘ 2 v ts ¥
()=~ x+6 () =[x +4-2 dppetd (D
3. g(x)= —|x+ 4. xX)=|x+4 — h—vlcﬂ-B -
reflect i x-axis shift left 4 unts

Shift left 6 unrts

5. y=2x[-1
Nayrower openin

Shift dOlA)Y\ \ lAV\\+

2. a y=|x—2/+3
©y=lx+2/+3

NEENA
N teft 2
k= up 3

4. a. y=|x-3 -1

c. y=—|x+3 -1

Shift down 2 wnds

6. y=—|x—1+3
reflect in x-axis
shittriaht lunt
shif wp’ 3wty

b. y=x+3 -2
d y=[x+3+2

34

(b y=—x—3~1

d y=|x+3-1

V.

O —> refleck (- -
h— rfﬁh{- =
k. =>down 1

0 b £ T 5 5 4 3 2

b - ho

a. y= —x[+2 b.y= —lx+2|

@yz—;‘x‘—i—z d.y:—;‘x+2‘
X —=reflects (-D |

wider (£) 1.
- no
R=up2

b. y=|x+4/—4

@y=2x+4-4

c. y=2x—4/—4 d y=|x—4/—4

b4

A= narpwer (2)

h—left
/hﬁ down H .




6. a y=[x-3+6 b. y=|x+3/+6
c.y=|x+6/+3 @y=Ix—6/+3
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Worksheet - HW 4.4 - Day 2
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